
 

2010-12 Ranger Bulkhead 

Fits: Full Size Rangers Only. 

P/N 10542 
 

Includes: 

1. (1) Bulkhead 

2. (4) P/N 9881 Clamps (less 

knobs). 

3. (4) 1/4-20 x 1” Flange Bolts 

4. (3) #14 Tek Screws 

5. (1) 6” 1/8” x 1” Foam Gasket 

6. (1) Logo Sticker 

 

2010-12 Ranger Bulkhead 

Fits: Full Size Rangers Only. 

P/N 10542 
 

Includes: 

1. (1) Bulkhead 

2. (4) P/N 9881 Clamps (less 

knobs). 

3. (4) 1/4-20 x 1” Flange Bolts 

4. (3) #14 Tek Screws 

5. (1) 6” 1/8” x 1” Foam Gasket 

6. (1) Logo Sticker 

 

2010-12 Ranger Bulkhead 

Fits: Full Size Rangers Only. 

P/N 10542 
 

Includes: 

1. (1) Bulkhead 

2. (4) P/N 9881 Clamps (less 

knobs). 

3. (4) 1/4-20 x 1” Flange Bolts 

4. (3) #14 Tek Screws 

5. (1) 6” 1/8” x 1” Foam Gasket 

6. (1) Logo Sticker 

 

2010-12 Ranger Bulkhead 

Fits: Full Size Rangers Only. 

P/N 10542 
 

Includes: 

1. (1) Bulkhead 

2. (4) P/N 9881 Clamps (less 

knobs). 

3. (4) 1/4-20 x 1” Flange Bolts 

4. (3) #14 Tek Screws 

5. (1) 6” 1/8” x 1” Foam Gasket 

6. (1) Logo Sticker 


